-

TREESHABRHE  E1

fnZe R 5B RE DG BN OE5E 428 6071

=

fnzemss

(BRBEJ—-F:12) ] K1XX121670

B (1) BSEE. ITMZERSEFNARSHEAR) (V—DOY—F) [CEEATDCE,

(2

R, TMERISEFREESEAR] N—DOY—K) F2KHD. 1
NS4 0FTIIINE (FLYIE) O IMNERBEFREAERS TR
[CRBZSCA L, B4 110584 2FTI2HME (&) O ITMZERSE
FRABREERM) CRBZ2ECAIDCE,

1W§@rm“%$%%ﬂﬂﬁ” R (W—DOY—1) OPREDRIC.
2EES] . [RERESOV-—I1 . TRB) . TRBE3—-F1. TRB
;—F?V—DJ\ré%J\FEEJ\FE%J&Uriﬁﬁajéﬁl
DT
iK\ZWEQF%W%$%¥MJﬁ”§%ﬁJ(7—99—#)@%@@
W, TRESES) . [RERESSOV-—I1. BEJ . TRBI-FJ.
rﬂED—FQV—DJ\FE%J&UFEﬁjﬁﬁkg%CCD

2iEEsS] . ZRESOV—I) . RBI-F) . TRIBI-FOD

N=01 . K& RO MEF£88]1 OANMNCEDHHDE, IVE2—
HICXDRRVBNARTRE R DD TEHRBBEAREBERDET,

TEIMEIERUCEEEBET D,




Dialogue 1

Answer questions 1 to 3

Question 1

JA18BD was holding due to a trouble of ...

the ILS receiver.

the VOR receiver.

the inertial navigation system.
the fuel control system.

L=

Question 2

The controller instructed the pilot to ...

continue holding.
follow the Citation.
pull over to the right.
taxi to another taxiway.

PO

Question 3

The pilot told the controller that ...

delay was undefined.

he would taxi back to the spot.

some instrument should have been replaced.
he would stay there for about 10 minutes.

L=



Dialogue 2

Answer questions 4 to 6

Question 4

JA18BD was holding on the taxiway because ...

1. there seemed to be a fire.

2. some instrument was malfunctioning.

3. fuel was leaking.

4. ground maneuvers were impossible.
Question S

The controller initially instructed JA18BD to ...

P

hold its position.

move to another taxiway.
follow the ERJ.

return to its spot.

Question 6

What was not transmitted by the controller?

P

Traffic information.

Instruction to hold position.
Instruction to wait outside the runway.
Takeoff clearance.



Dialogue 3

Answer questions 7 to 9

Question 7

The full length departure was not available due to ...

1. foreign object on the runway.

2. cracks on the taxiway.

3. another aircraft which had a trouble.

4. construction work on the runway.
Question 8

The controller confirmed the position when JA18BD was ...

PO

taxiing near W1 taxiway.
taxiing near W3 taxiway.
taxiing somewhere unknown.
lining up the runway.

Question 9

The controller informed JA18BD ...

L=

the remaining runway length.
ground temperature.

wind data.

aNOTAM.



Dialogue 4

Answer questions 10 to 12

Question 10

The controller instructed JASSKS to ...

1. maintain VMC.

2. depart without turning.

3. take off immediately.

4. stay on the runway.
Question 11

The pilot could not depart because of ...

1. landing gear trouble.

2. runway incursion.

3. curfew.

4. engine problem.
Question 12

The controller finally told JAS0AS ...

not to land.

to taxi off the runway.

a towing tractor was on the way.
to hold on the runway.
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Dialogue 5

Answer questions 13 to 15

Question 13
The pilot reported ...
1. pilot’s incapacitation.
2. some instrument was out of order.
3. the airport was sighted.
4. an emergency.

Question 14

The pilot requested to ...

descend.

land at Fukuoka airport.
change his heading.
cancel IFR.

PO

Question 15

What was the target of vectoring ?

Runway 34 final approach course.
Runway 34 right downwind.
Runway 34 left traffic pattern.
Initial approach fix.

L=



Dialogue 6

Answer questions 16 to 18

Question 16

What was the nature of the problem?

1. Violation

2. Severe icing.

3. Engine over power.

4. Engine vibration.
Question 17

What was the pilot's request for his arrival?

PO

An emergency landing.

To revoke the prescribed restriction.
Navigational guidance.

An ambulance to stand by.

Question 18

The informed traffic was flying to ...

PO

the southwest at 5 miles southeast of MIFUNE, and it was not sighted.
the southwest at 5 miles southeast of MIFUNE, and it was sighted.
the southeast at 5 miles southwest of MIFUNE, and it was not sighted.
the southeast at 5 miles southwest of MIFUNE, and it was sighted.



Dialogue 7

Answer questions 19 to 21

Question 19

The pilot requested to change the altitude due to ...

1. icing conditionss.

2. rough air conditions.

3. cloud conditions.

4. landing preparation.
Question 20

The controller instructed to reduce airspeed due to the ...

controller' s workload.
enroute separation.

speed restriction within the control zone.
time restriction.

PO

Question 21

The reported traffic was ...

going away and it was not sighted.
going away and it was sighted.
closing in and it was not sighted.
closing in and it was sighted.

L=



Dialogue 8

Answer questions 22 to 24

Question 22
JASG6AE deviated from the assigned route due to ...
. failure of radio receiver.
. avoiding clouds.

1
2
3. failure of navigational instrument.
4. trouble of ground facility.

Question 23

JAS6AE intended to ...

1. proceed to the destination via vectoring.
2. continue its navigation in VFR.
3. divert to Hanamaki airport.
4. declare an emergency.
Question 24

The controller informed the traffic which was ...

climbing through left ahead of JAS6AE.

leveling off below on the left ahead of JAS6AE.
climbing through right ahead of JAS6AE.
leveling off below on the right ahead of JAS6AE.

BN~
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Dialogue 9

Answer questions 25 to 27

Question 25

The pilot made an emergency descent due to ...

1. decompression.

2. 1illness of passenger.

3. falling oil pressure.

4. engine failure.
Question 26

What was the initial position of JA123G relative to JAS6AE?

Above and ahead in the same direction.
Above and behind in the opposite direction.
Below and ahead in the same direction.
Below and behind in the opposite direction.

PO

Question 27

The pilot changed the destination because of the ...

fuel consumption.
maintenance capability.
passenger’s condition.
bad weather.

L=



Dialogue 10

Answer questions 28 to 30

Question 28

The pilot requested priority landing due to ...

1. a cabin crew with possible heart attack.
2. critical fuel condition.
3. asick person on board.
4. an injured passenger.
Question 29

ATC would prepare the assistance of ...

1. atowing truck.

2. medical staff.

3. emergency crew.

4. fire fighters.
Question 30

The pilot told the passenger was ...

1. amale.

2. a Chinese.
3. aJapanese.
4. afemale.



Dialogue 11

Answer questions 31 to 33

Question 31

The first report that the controller gave to the traffic was...

L=

rough air condition on departure course.
windshear on departure course.

rough air condition on final.

windshear on final.

Question 32

The controller cancelled takeoff clearance because...

PO

the airport weather has been changed to IMC.

he forgot that he had also issued the clearance to the arrival traffic.
Other traffic entered the runway without clearance.

The arrival traffic made go around.

Question 33

The takeoff of JA870Q would be cleared after...

L=

the weather improved to VMC.
the landing of inbound traffic.
completion of bird sweep.
completion of runway check.



Dialogue 12

Answer questions 34 to 36

Question 34

The pilot reported the problem ...

1. on final RUNWAY 14.

2. on final RUNWAY 32.

3. over HORIE.

4. on downwind.
Question 35

The problem was with ...

1. navigation system.

2. wind shear warning.

3. landing gear system.

4. high lift device.
Question 36

Where was the next position that JA123G was requested to report ?

Right downwind for RUNWAY 14.
Left downwind for RUNWAY 14.
Right downwind for RUNWAY 32.
Left downwind for RUNWAY 32.

L=
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Dialogue 13

Answer questions 37 to 39

Question 37

The controller instructed JA123G to...

1. report 5 miles.

2. follow the traffic pattern traffic.

3. clear to land.

4. make circle before base.
Question 38

What was the reason why JA123G confirmed to the controller ?

1. He did not receive the landing clearance.

2. He observed the traffic making base turn.

3. He observed the traffic on the runway.

4. He was afraid that the controller confused the call sign.
Question 39

The initial instruction to JA870Q was...

L=

to clear to land.

to report 5 miles.

to report downwind.

to follow the inbound traffic.



Dialogue 14

Answer questions 40 to 42

Question 40

JA123G made full-stop landing because of :

1. a malfunction of flight control.
2. instruction by tower.
3. amalfunction of the display.
4. hydraulic failure.

Question 41

What was the intention of JA123G?

1. Termination of flight.

2. Hold his flight plan.

3. Hold on the runway.

4. Continue their mission after maintenance.
Question 42

What was the instruction given to JA870Q?

Go around.

Clearance for landing.
Airspeed reduction.
Holding on final leg.

L=



